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Q6. __________ is the synonym of "OBSTACLE" 
 

A. Approval B. Route 

C. Hurdle D. Support 

 

Q7. __________ is the antonym of "NEGLIGENCE". 
 

A. Attention B. Burden 

C. Inclination D. Cherish 

 

Q8. Identify the meaning of the idiom in the sentence. 
"The builder cut corners while constructing the building." 

 

A. To do something badly or cheaply B. To do something hurriedly 

C. To be extremely expensive or excessively 

pricey 

D. To follow a process 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 
"It's raining until yesterday." 

 

A. It is raining since yesterday. B. Its raining until tomorrow. 

C. It was raining since yesterday. D. It's been raining until yesterday. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
My brother scolded me because I _______ (drive) through the hills late in the night, when 
it was raining heavily. 

 

A. drove B. driven 

C. driving D. drive 

 

Q11. Who was the first Indian badminton champion to reach the finals of the Swiss Open 
Badminton Tournament in March 2019? 

 

A. Saina Nehwal B. Sai Praneeth 

C. Saurabh Verma D. H S Prannoy 
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Q11. /?}च-2019 /O �0K�?, �=?A �+) -P!�/ि㼂�) �K)?च/O� �O  ,?�)ल /O +B ि㼂})O ??ल? +Bल? .?1,I0 -P!�/ि㼂�) }ै䠂�+0) �L) -?? 
 

A. 9?�1? 1O:=?ल B. 9?� �,I- 

C. 9L0. =}?? D. ए� ए9 �,/ 

 

Q12. Who was the first European explorer and navigator to reach India? 
 

A. Christopher Columbus B. Vasco da Gama 

C. Robert Clive D. Dominigo Paes 

Q12. .?1, +B ि㼂})O ??लO �-/ 0K1K+I0 
m?O@� �1 )?�?� �L) -O? 
 

A. }ि}टK,0 �Kल�-9 B. =?}�K )?�?}? 

C. 0I-ट? ]ल?�= D. /K/})1�K +O9 

 

Q13. The Bhopal disaster or Bhopal gas tragedy, the worst chemical disaster in history, 
happened at ______ plant. 

 

A. Union Carbide India Limited B. Hindustan Petro Chemicals 

C. Manali Fertilizers Limited D. Oil and Natural Gas Corporation 

Q13. .K+?ल �+.? 0? .K+?ल �PA }?A.I, ��,B?A /O A-AO �1?- 1?A?0�)� �+.?, ______ पल?ि㼂� /O B � -?। 
 

A. /)ू1/1 �?-??�? ��)?/? /ल/}टO? B. 9:�/I}-?1 +O्䵏K �O /}�ल㉍9 

C. }1?लI ,9ट?ल?��9? /ल/}टO? D. -Oल ए=� �?�ृ)-� �P9 )1�} 

 

Q14. The Archaeological Survey of India works under the __________. 
 

A. Ministry of Culture B. Ministry of Science and Technology 

C. Ministry of Earth Sciences D. Ministry of Environment, Forest and Climate 

Change 

Q14. .?1,I0 +J1?,m? A?O�+ __________ �O  ,B, �?/ �1,? BP। 
 

A. 9�}�ृ)- }�्䵔?ल/ B. ==_?1 �0 �Lद♍/K���I }�्䵔?ल/ 

C. +mृ=I ==_?1 }�्䵔?ल/ D. +/??=0,, =1 �0 �ल=?/I +90=-?1 }�्䵔?ल/ 
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Q15. Who was the founder of 'Vishal Haryana Party' of Haryana? 
 

A. Shri Rao Birender Singh B. Shri Om Prakash Chautala 

C. Shri Bhagwat Dayal Sharma D. Shri Bansi Lal 

Q15. Bर10?+? �ी 8�???ल Bर10?+? +?�I9 �O  Aि㼂=-?+� �L) -O? 
 

A. ्䵦I 0?= --0े䜂्䵖 /9�: B. ्䵦I �}��?> �Lट?ल? 

C. ्䵦I .?�=- //?ल >}?? D. ्䵦I -�9I ल?ल 

 

Q16. Which former Chief Minister of Haryana was known as "Iron Man"? 
 

A. Shri Banarasi Das Gupta B. Shri Bansi Lal 

C. Shri Bhajan Lal D. Shri Chaudhary Devi Lal 

Q16. Bर10?+? �O  ��A +K?च /J_0/ि㼂}I �K "�01) /P)" �B? ??,? BP? 
 

A. ्䵦I -1?09I /?9 �Io-? B. ्䵦I -�9I ल?ल 

C. ्䵦I .�1 ल?ल D. ्䵦I �L00I /O=I ल?ल 

 

Q17. __________,the last king of Balramgarh district of Haryana, was killed in the Indian 
Independence war of 1857. 

 

A. Raja Balram Singh B. Raja Nahar Singh 

C. King Harshvardhana D. Samrat Hem Chandra Vikramaditya 

Q17. __________, Bर10?+? �O  -ल1?/�? �?लO �O  
ि㼂�,/ 1???, 1857 �O  .?1,I0 =?,ि㼂},? Aि㼂्䵇?/ /O /?1O �� -O। 
 

A. 0?�? -ल0?} /9�: B. 0?�? 1?:0 /9�: 

C. 0?�? :}?=0?1 D. 9�?ट :O} ��्䵖 ==ि}?9/m/ 

 

Q18. According to the latest Greenpeace report, ________ is the most polluted city of India. 
 

A. Bhiwandi B. Gurugram 

C. Faridabad D. Ghaziabad 
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Q18. )?I),/ ्䵇I)+IA र1+K�च �O  
)JA?1, _________ .?1, �? A-AO �.K�@, ?B1 BP। 
 

A. /.=�?I B. �Iy्䵇?} 

C. ,0I/?-?/ D. �?[ि/?-?/ 
 

Q19. Which of the following cities of Haryana was the venue of the International Gita 
Mahotsav 2018 held from 07th to 23 Dec 2018? 

 

A. Panchkula B. Meham 

C. Kurukshetra D. Jagadhri 

Q19. �)म⹍)�ल��, /O AO Bर10?+? �? �L) A? ?B1, 07 �.Aम⹍-1 AO 23rd �.Aि㼂-1 2018 �O  -I} �0K�?,, 
ि㼂,1?च�रI0 �I,? /BKmA? 
2018 �? �0K?) =-ल -?? 

 

A. +���I ल? B. }:} 

C. �I y�O्䵔 D. ��?00I 
 

Q20. Which Indian State topped the Swachh Survekshan Grameen Awards 2018 with maximum 
citizen participation? 

 

A. Haryana B. Gujarat 

C. Maharashtra D. Telangana 

Q20. ��A .?1,I0 1?जᱍ0 )O, =?चᩍ� A?O�+ ्䵇?/I+ +J1=�?1 2018 /O, 
�?�,/ )?�र1� .?�I.?1I �O  A?- ?I@च =-?) �?्䵎 ��0? -?? 
 

A. :90/?,? B. �I�0?- 

C. }:?0?�्䵏 D. -Oल��?1? 
 

Q21. Haryana Shramik Panjikaran Abhiyan is an initiative by the Haryana State Government to 
register _______ of the state so that they can avail the benefits under various Centre and 
State Government schemes. 

 

A. Farmers B. Weavers 

C. Potters D. Labourers 
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Q21. 8Bर10?+? ्䵦�/� +ि㼂?I�1+ 
�.0?)9, Bर10?+? 1?जᱍ0 A1�?1 �?1?, 1?जᱍ0 �O  _______ �K +ि㼂?I�L , �1)O �O  �ल� �� +Bल BP, ,?�� 
?O लK� �?�.m) �O � �1 1?जᱍ0 A1�?1 �ी 0K?)?� ि㼂 �O  ,B, ल?. � ? A�O । 

 

A. }�9?1ो䬂 B. -I1�0ो䬂 

C. �I म⹍:?0ो䬂 D. ्䵦/}�ो䬂 
 

Q22. Recently, Chief Minister Shri Manohar Lal Khattar launched the Mukhyamantri Parivar 
Samman Nidhi Yojana for farmers and unorganized sector workers. What is the eligibility 
criteria for a farmer9s family under this scheme? 

 

A. Must be from Haryana and must have 

cultivable land up to 5 acres 

B. Must have cultivable land up to 2 acres and 

must have a family residing in Haryana 

C. Must be born in Haryana and must have 

income from cultivable land up to Rs. 25000 per 

annum 

D. Must be from Haryana and must have 

cultivable land less than 1 acre 

Q22. B?ल BI /O, /J_0/ि㼂}I ्䵦I /)KB1 ल?ल �्䴾1 )O, ��A?)K �1 
Aि㼂�� , �O} �O  ्䵦�/�K �O  �ल�, /J_0/ि㼂}I +र1??1 Aम⹍/?) �)�? 0K?)? �ी 
?Jy�, �ी BP। �A 0K?)? �O  ,B,, ��A?) +र1??1 �O  �ल� +?},? /?).ि㼂! ]0? BP? 

 

A. :90/?,? �? 1?�90� :K1? �?9:ए, -.? �9�O  +?9 5 ए�= 
-� �I �ृ=} /K_/ ./ू} :K1I �?9:ए 

B. 2 ए�= -� �ृ=} /K_/ ./ू} :K1I �?9:ए, -.? �9�? 
+90=?0 :90/?,? }े䜂 )1=?9 �01O =?ल? :K1? �?9:ए 

C. :90/?,? }े䜂 +P/? :I� :K, -.? �ृ=} /K_/ ./ू} 9O �/ 

25000 z+ए �)- =}? :K1I �?9:ए। 
D. :90/?,? 9O :K1? �?9:ए -.? 1 ए�= 9O �} �I �ृ=} /K_/ 

./ू} :K1I �?9:ए 
 

Q23. Which amongst the following is the magazine of Haryana Sahitya Academy? 
 

A. Harigandha B. Sahitya Sugandh 

C. Samkaleen Bhartiya Sahitya D. Samskrita Pratibha 

Q23. �)म⹍)�ल��, /O AO �L) AI, Bर10?+? A?�Bm0 
�?./I �ी +�}�? BP? 
 

A. :90��0? B. 9?9:m/ 9I��0 

C. 9}�?लI1 .?0-I/ 9?9:m/ D. 9�}�ृ- �)-.? 
 

Q24. 'Bhakti Bharati' is a poetic creation of ___________ from Haryana. 
 

A. Raja Ram Shastri B. Tulsidas Sharma Dinesh 
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C. Bishambar Nath Kaushik D. Khushi Ram Sharma 

Q24. '.�ि .?1,I' Bर10?+? �O  ___________ �ी �� �?}0 1})? BP। 
 

A. 0?�? 0?} >?}्䵔I B. -Iल9I/?9 >}?? 9/1O> 

C. -->म⹍.0 1?. �L/>� D. ZI>I 0?} >}?? 
 

Q25. Which Urdu poet born in Panipat,made his mark during pre- independence era in 
Haryana? 

 

A. Altaf Hussain Hali B. Muhammed Afzal 

C. Sannat Sadullah D. Gulam Nilami 

Q25. +?)I+, /O +P.? B � ��A �.Kच ��? )O Bर10?+? �O  +K?च-=?,ि㼂},? 0J� �O  .L1?) 
+)I �?+ �K)I -I? 
 

A. 
ल㉍-?, :I9P1 :?लI B. }K:म⹍}/ 
,�ल 

C. 9m1- 9/Iल㉍ल?: D. �Iल?} 1Iल}I 
 

Q26. Bir Bara Ban Wildlife Sanctuary is situated in ________ district of Haryana. 
 

A. Jind B. Sirsa 

C. Kurukshetra D. Panchkula 

Q26. -I1 -?1? -?+ ?m0?I? 
.0?1o0, Bर10?+? �O  ________ �?लO /O �=-, BP। 
 

A. �I�/ B. /909? 

C. �I y�O्䵔 D. +���I ल? 
 

Q27. The famous ancient temple of Mata Shitala is situated in the _________ city of Haryana. 
 

A. Gurugram B. Rohtak 

C. Ambala D. Yamunanagar 

Q27. ?I,ल? /?,? �? ��A्䵍 �?}I) /ि㼂�.1, Bर10?+? �O  _________ ?B1 /O �=-, BP। 
 

A. �Iy्䵇?} B. 0K:-� 

C. 
म⹍-?ल? D. /}I1?1�0 
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Q28. Where is the headquarters of Haryana Board of School Education? 
 

A. Sirsa B. Mahendargarh 

C. Bhiwani D. Faridabad 

Q28. Bर10?+? -K!च �, =�K ल �?J�O ?) �? /J_0?ल0 �B?ि㼂 BP? 
 

A. /909? B. }:े䜂्䵖�? 

C. /.=?1I D. ,0I/?-?/ 
 

Q29. Which city of Haryana is known as 'Gateway of Haryana'? 
 

A. Bahadurgarh B. Manesar 

C. Narnaul D. Farruqnagar 

Q29. Bर10?+? �? �L) A? ?B1, '�O�?O �, Bर10?+?' �O  )?/ AO ??)? ??,? BP? 
 

A. -:?/I0�? B. }?1O90 

C. 1?01Lल D. फ़?zY1�0 
 

Q30. _____________in Haryana has been declared as National heritage under the 
archaeological land and remnants act 1958. 

 

A. Tomb of Khwaja Khizer B. Tomb of Rajia Sultan 

C. Tomb of Sheikh Chilli D. Shah-Jahan-ki Baoli 

Q30. Bर10?+? /O _____________ �K +J1?,?�m?� .K�/ �?ि㼂 
??O@ 
�?�)0/ 1958 �O  ,B, 1?�रI0 �?1?A,  K�@, ��0? �0? BP। 
 

A. _=?�? �?िO0 �I �} B. 0[�/? 9Iल㉍-?1 �I �} 

C. >O? ��ल㉍लI �I �} D. >?:�:?� �I -?=लI 
 

Q31. If a panchayat in Haryana is dissolved, then, elections should be held within _______. 
 

A. Six months B. Two months 

C. One year D. Three months 
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Q31. 
�1 Bर10?+? /O �� +ि㼂}?0, .ि㼂� BK ??,I BP, ,K, }J)?? _______ �O  .I,1 BK)? }?�B�। 
 

A. �ः }:I1O B. /K }:I1O 

C. ए� 9?ल D. -I1 }:I1O 
 

Q32. Chairman of State Public Service Commission is appointed by__________ in Haryana. 
 

A. President of India B. Governor of the state 

C. Chief Minister of the state D. Prime Minister of India 

Q32. Bर10?+? /O 1?जᱍ0 लK� AO?? �0K� �O  
o0� �ी �)0J�ि ______________ �O  �?1? �ी ??,I BP। 
 

A. .?0- �O  0?�्䵏+)- B. 0?जᱍ/ �O  0?जᱍ/+?ल 

C. 0?जᱍ/ �O  }I_/}�्䵔I D. .?0- �O  �0?1}�्䵔I 
 

Q33. Where is the administrative headquarters of Mahendargarh district in Haryana? 
 

A. Narnaul B. Bighopur 

C. Ateli D. Nangal 

Q33. Bर10?+? /O /BO��? �?लO �? �??A�)� /J_0?ल0 �B?ि㼂 BP? 
 

A. 1?01Lल B. -- K+I0 

C. 
टOलI D. 1?��ल 

 

Q34. ____________ district of Haryana is rich in mineral resources. 
 

A. Ambala B. Panipat 

C. Hisar D. Mahendargarh 

Q34. Bर10?+? �? ____________ �?ल? ��)? Aि㼂A??)K /O A/L्䵍 BP। 
 

A. 
म⹍-?ल? B. +?1I+- 

C. 9:9?0 D. }:े䜂्䵖�? 
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Q35. India's first Indo-Israel agriculture project is established at Karnal district of Haryana. 
Under this project, cultivation of high quality__________ will take place. 

 

A. Fruits B. Vegetables 

C. Wheat D. Rice 

Q35. .?1, �ी +BलI .?1,-�?1?0ल �L �@ +र10K?)? Bर10?+? �O  �1)?ल �?लO /O =-?�+, �ी �� BP। �A +र10K?)? �O  ,B,, 
चᩍ�I �J+?m? 
�O  ___________ �ी �O,I �ी ??��I। 

 

A. ,ल B. 9[��/?� 

C. �O:ूK D. 0?1 

 

Q36. What is the abbreviation of WLAN? 
 

A. Wireless Limited Area Network B. Wireless Local Area Network 

C. Wireless Logical Area Network D. Wireless Large Area Network 

Q36. WLAN �? Aि㼂��्䵎 )?/ ]0? BP? 
 

A. =?/0लO9 /ल/}टO? ए90/? 1Oट=�?  B. =?/0लO9 लK�ल ए90/? 1Oट=�?  

C. =?/0लO9 लI[��ल ए90/? 1Oट=�?  D. =?/0लO9 ल?�? ए90/? 1Oट=�?  
 

Q37. The Kalesar National Park of Haryana owes its name to a temple inside the park. The 
temple is dedicated to ___________. 

 

A. Lord Vishnu B. Lord Brahma 

C. Lord Krishna D. Lord Shiva 

Q37. Bर10?+? �O  �?लOA1 1?�रI0 �o?) �? )?/ �o?) �O  .I,1 �=-, �� /ि㼂�.1 �O  )?/ +1 1�? �0? BP। 0B /ि㼂�.1 ___________ �K 
A/�+च, BP। 

 

A. ==�,I .�=?1 B. }}}?�I 

C. �ृ�, .�=?1 D. />= .�=?1 

 

Q38. Pharal village of Kaithal district in Haryana organizes which of the following fairs? 
 

A. Hastshilpa Fair B. Pehowa Fair 
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C. Phalgu Fair D. Balaknath Fair 

Q38. Bर10?+? �O  �P -ल �?लO �O  ,1ल �?ि㼂? /O �)म⹍)�ल��, /O AO �L) A? /Oल? ल�,? BP? 
 

A. :}-/>ल㉍+ }Oल? B. +O:K=? }Oल? 

C. ,?ल㉍�ू }Oल? D. -?ल�1?. }Oल? 
 

Q39. Which one of the following is a large capacity storage device made of multiple disks 
housed in a rigid case? 

 

A. Ethernet B. Driver 

C. Hard drive D. Installer 

Q39. �)म⹍)�ल��, /O AO �L) A? �� -)I �/,? �? =�K1O? �!??�A BP ?K �� � K1 �O A /O 1�O �� �� �!=�K AO -)? BP? 
 

A. �.01Oट B. ्䵑?�=0 

C. :??? ्䵑?�= D. ��}ट?ल0 
 

Q40. Find the odd-one out in the following: 
Mercury, Mars, Sun, Venus 

 

A. Sun B. Mars 

C. Venus D. Mercury 

Q40. �)म⹍)�ल��, /O AO �?@/ �K �K?O: 
-J?, /ि㼂�ल, AK0च, ?J्䵅 

 

A. 9/ू? B. }��ल 

C. >Iि D. -I0 

 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 
this pair: 
Cunning: Fox :: Gentle : 

 

A. Crow B. Elephant 

C. Lamb D. Rabbit 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 24, Apprenticeship Instructor, 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 12 of 27 

 

Q41. ABI �?�ल㉍+ }J)O ?K /Kल ?K)I ?PA? Aम⹍-m? �.�,? BK: 
}?ल?� : लK/)I :: .� : 

 

A. �L=? B. :?.I 

C. }O}1? D. ?0�K> 

 

Q42. Find the missing number: 41,40,38,35,31,? 
 

A. 26 B. 28 

C. 30 D. 25 

Q42. 
)J+�=-, Aि㼂_0? _?, �1O: 41, 40, 38, 35, 31,? 
 

A. 26 B. 28 

C. 30 D. 25 

 

Q43. In a different coding system COMPUTER is coded as DQNRVVFT, how is SCANNER 
coded as? 

 

A. TFBPNDS B. UECPOGT 

C. TEBPOGS D. TFBQOFS 

Q43. 0�. �� �K! .?@? /O COMPUTER �K DQNRVVFT �ल�? ??,? BP ,K SCANNER �K ]0? �ल�? ??��?? 
 

A. TFBPNDS B. UECPOGT 

C. TEBPOGS D. TFBQOFS 

 

Q44. 
 

 

A. 0.36 B. 0.56 

C. 0.76 D. 0.26 

Q44. 
 

 

A. 0.36 B. 0.56 

C. 0.76 D. 0.26 
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Q45. (-7.8)2 = ? 
 

A. 45.64 B. 63.74 

C. 76.55 D. 60.84 

Q45. (-7.8)2 = ? 
 

A. 45.64 B. 63.74 

C. 76.55 D. 60.84 

 

Q46. 45% of 90 = ? 
 

A. 40.5 B. 45 

C. 35.5 D. 55 

Q46. 90 �? 45% = ? 
 

A. 40.5 B. 45 

C. 35.5 D. 55 

 

Q47. A die is rolled. Find the probability of getting an odd number. 
 

A. 1/6 B. 1/3 

C. 1/2 D. 1/4 

Q47. �� !?� �K 1Kल ��0? ??,? BP। �� �?@/ Aि㼂_0? �/ल)O �ी Aि㼂.??)? -,?�ि㼂 
 

A. 1/6 B. 1/3 

C. 1/2 D. 1/4 

 

Q48. What is the Standard International (SI) unit of force? 
 

A. Dyne B. Kilogram 

C. Pascal D. Newton 

Q48. -ल �ी /?)� 
ि㼂,1?च�रI0 (�A��- SI) ��?� ]0? BP? 
 

A. ??�1 B. }�लK्䵇?} 

C. +?}�ल D. m/टू1 
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Q49. Melting of an ice cube is an example of 
 

A. Sublimation B. Vaporization 

C. Chemical change D. Physical change 

Q49. �� -,च  �O  �J�)O �? �+ ल)? ��A�? �� �.?B1+ BP? 
 

A. ��=?+?-1 B. =?�+I.=1 

C. 0?9?/)1� +90=-?1 D. .L)-� +90=-?1 

 

Q50. How many chromosomes are present in a human body? 
 

A. 23 B. 46 

C. 44 D. 48 

Q50. /?)? ?1I1 /O ��,)O �J+AK} BK,O Bै䠂? 
 

A. 23 B. 46 

C. 44 D. 48 

 

Q51. What is the expression that relates "Representative Fraction" in engineering drawing? 
 

A. Size or length of an object drawn in the 

drawing/Actual size or length of the same object 

B. Volume of an object drawn in the 

drawing/Actual size of the same object 

C. Actual size of the same object /Size of an 

object drawn in the drawing 

D. Actual size of the same object/Volume of an 

object drawn in the drawing 

Q51. ?B �L) A? }0ि㼂?� BP ?K �ि㼂?I�)0र1ि㼂� ्䵑?�ि㼂� /O "�)ቨ梚+� �.m) (र1�O?Om�O��? �P ]?))" AO Aि㼂-ि㼂�?, BP? 
 

A. ्䵑?��� }े䜂 ?I��I �� }�9I =}-I �? ��?0 /? ल�-?� / �9I 
=}-I �? =?}-==� ��?0 /? ल�-?� 

B. ्䵑?��� }े䜂 ?I��I �� }�9I =}-I �? �/-1 / �9I =}-I �? 
=?}-==� ��?0 

C. ए� :I =}-I �? =?}-==� ��?0 / ्䵑?��� }े䜂 ?I��I �� }�9I 
=}-I �? ��?0 

D. ए� :I =}-I �? =?}-==� ��?0 / ्䵑?��� }े䜂 ?I��I �� }�9I 
=}-I �? �/-1 
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Q52. What is the conic section obtained, if the cutting plane cuts all the generators of the cone, 
and is inclined to the axis? 

 

A. pentagon B. parabola 

C. ellipse D. parallelogram 

Q52. �?्䵎 ��0? B � ?ि㼂�J  
)J.?� ]0? BP, 0�. ���ि㼂� पलO) ?ि㼂�J  �O  A.I ?)1O�1K �K �?�,? BP, �1 
� +1 �J�? B � BP? 
 

A. +��.I� B. -?0:�K1? 

C. /I ?=्ृ䵈 D. 9}?1?�-0 �-I.I?� 

 

Q53. The process that is used to shape metals and alloys to semi-finished products by passing 
them between two rolls rotating in the opposite direction is ________. 

 

A. Casting B. Rolling 

C. Forging D. Metal Spinning 

Q53. ?B ��्䵅0? �?A�O  =,?/ल AO ??,J �1 �/्䵦 ??,J� ि㼂 �K 
्䵍च-,P0?1 �m+?.K /O ��?1 .O)O �O  �ल�, �AO �?+1I, �.?? /O  K/,O B � .K 
1KलK �O  -I} AO �J??1,O BP। ?B __________ ��्䵅0? �Bल?,? BP। 

 

A. �?[}ट�� B. 0K/ल�� 

C. ,K[�ि㼂� D. }Oटल [}+)1�� 

 

Q54. Which tool is used to produce holes in red hot job? 
 

A. Mark gauges B. Hardie 

C. Punches D. Chisels 

Q54. 1O! BQ� ?Q- /O �O. -)?)O �O  �ल� ��A �+�1+ �? �+0K� ��0? ??,? BP? 
 

A. }?�?  �O� B. :??ी 

C. +�� D. ��िल 

 

Q55. What is the abbreviation of LAN? 
 

A. Latency Around Network B. Least Area Network 

C. Local Area Network D. Last Affordable Network 
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Q55. LAN �? Aि㼂��्䵎 )?/ ]0? BP? 
 

A. लOटे䜂9I 
0?�� ? 1Oट=�?  B. लI}ट ए90/? 1Oट=�?  

C. लK�ल ए90/? 1Oट=�?  D. ल?}ट 
,K?-ेल 1Oट=�?  
 

Q56. The data in Erasable Programmable Read-Only Memory (EPROM) can be erased by 
exposing it to _______. 

 

A. ultraviolet light. B. infrared light. 

C. visible light. D. electric field. 

Q56. EPROM (�1O�O-ल �K्䵇?/O-ल 1I!-�)लI /O/K1I)/O !O�? �K ___________ �O  A?/)O ल?�1 �/�?0? ?? A�,? BP। 
 

A. 
ल㉍्䵏?=?/लOट ल?�ट B. ���?0O? ल?�ट 

C. ==[ि-ल ल?�ट D. �लO[]्䵏� ,Iल㉍? 
 

Q57. Which one of the following is an optical storage device? 
 

A. Floppy disk B. Super disk 

C. Blu ray disc D. Zip diskette 

Q57. �)म⹍)�ल��, /O AO �L) A? �� ��प��ल =�K1O? �!??�A BP? 
 

A. oलI+I )?}� B. 9I+0 )?}� 

C. �लू - 0O )?}� D. [ि+ )?}�O ट 
 

Q58. The Young's modulus is written as __________. 
 

A. Tensile or compressive Stress/Corresponding 

strain 

B. Compressive strain/Corresponding Compressive 

Stress 

C. Elasticity/Shear Strain D. Shear Strain/Deformation 

Q58. 0ि㼂� �? /?+?ि㼂� _________ �O  z+ /O �ल�? ??,? BP। 
 

A. -11 /? 9�+I?� �)--ल / 
1Iz+ ==�ृ)- B. 9�+I?� ==�ृ)- / 
1Iz+ 9�+I?� �)--ल 

C. �m/?}.-? / 
+z+, ==�ृ)- D. 
+z+, ==�ृ)- / ==z+, 
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Q59. How do the stress called, if the deforming force is parallel to the surface of an object? 
 

A. Shear stress B. Normal stress 

C. Tensile stress D. Compressive stress 

Q59. 0�. �?z++z+ि㼂 -ल ��AI ?=,J �ी A,B �O  A/?)?ि㼂,1 BK,,- �L)A? ��,-ल ल�?0? ??,? BP? 
 

A. 
+z+, �)--ल B. 9?}?m/ �)--ल 

C. -11 �)--ल D. 9�+I?� �)--ल 

 

Q60. Choose the mathematical expression for "Factor of Safety". 
 

A. Ultimate stress/Allowable stress B. Allowable stress/Ultimate stress 

C. Ultimate strain/Yield stress D. Allowable stress/Elasticity 

Q60. "AJ1�? �J+�" �O  �ल� ��+,I0 }0ि㼂?� }J)O। 
 

A. �0} �)--ल / }=I�?/? �)--ल B. }=I�?/? �)--ल / �0} �)--ल 

C. �0} �)--ल ==�ृ)- / +0?.= �)--ल D. }=I�?/? �)--ल / �m/?}.-? 
 

Q61. Slenderness ratio is defined as: 
 

A. Effective length of column/Least radius of 

gyration 

B. Effective Area of column/Least radius of 

gyration 

C. Effective length of column/Maximum radius of 

gyration 

D. Effective Area of column/Maximum radius of 

gyration 

Q61. ,)J,? 
)J+?, �O  z+ /O +र1.?�@, ��0? �0? BP: 
 

A. }-�. �I �.?=I ल�-?� / m/ू1-} +90}}, -्䵔जᱍ/? B. }-�. �? �.?=I �O्䵔 / m/ू1-} +90}}, -्䵔जᱍ/? 

C. }-�. �I �.?=I ल�-?� / 
�0�-} +90}}, -्䵔जᱍ/? D. }-�. �? �.?=I �O्䵔/ 
�0�-} +90}}, -्䵔जᱍ/? 
 

Q62. Which one of the following is NOT an assumption for "Euler's theory" of buckling of 
columns? 

 

A. The column is straight and the load applied is 

axial 

B. The column material is homogeneous 

C. Self weight of the column is considered D. The column fails only by buckling 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 24, Apprenticeship Instructor, 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 18 of 27 

 

Q62. �)म⹍)�ल��, /O AO �L) A? =,ि㼂.K �O  ��Jि㼂 }) �O  "0Kल1 �O  �A्䵍?ि㼂," �O  �ल� �� ??1+? )BK BP? 
 

A. }-�. 9I0? :P �0 ल�?/? �/? लK? 
�I/ :P। B. }-�. 9?}्䵇I 9�?-I/ :P 

C. }-�. �? }= =�1 }?1? �?-? :P D. �Iल} �O =ल ��I� �1 9O ==,ल :K-? :P 
 

Q63. A single force which has the same effect as a number of separate forces is called as 
_______. 

 

A. resultant forces B. Couple 

C. equilibrium Forces D. component Force 

Q63. �� ��ल -ल �?A�? �� 
ल�-
ल� -लK �O  A/?) �.?? BK,? BP, �AO ________ �B? ??,? BP। 
 

A. +90,?}I -ल B. /I_} 

C. 9?म⹍/ -ल D.  ट� -ल 

 

Q64. According to Amonton's laws of dry friction, the frictional force is _________ to the 
applied load. 

 

A. directly proportional B. inversely proportional 

C. Square D. independent 

Q64. ?J��  @च+ �O  
/Km�K) �O  �)0/K �O  
)JA?1,  @च+ -ल ल?�K .?1 +1 _______ BK,? BP| 
 

A. 9}?1I+?-I B. }/Imि}?1I+?-I 

C. =�? D. }=-�्䵔 
 

Q65. When the temperature increases, the resistance of the pure metals like copper, aluminium 
_______. 

 

A. Increases B. Decreases 

C. becomes zero D. remains constant 

Q65. ?- ,?+/?) -?,? BP, ,K ,?ि㼂-O, �ल㉍0K/I�)0/ ?PAO ?J्䵍 ??,J� ि㼂 �? ��,1K? _________ ??,? BP। 
 

A. -? B.  ट 

C. >mू/ D. 
+90=)-?- 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 24, Apprenticeship Instructor, 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 19 of 27 

 

 

Q66. Which of the following materials do not have any free electrons in it? 
 

A. Conductor B. Semiconductor 

C. Superconductor D. Insulator 

Q66. �)म⹍)�ल��, /O AO ��A A?/्䵇I /O �K� /Jि �लO]रQ) )BK BK,O Bै䠂? 
 

A. �?ल� B. 
0?�?ल� 

C. 
)-�?ल� D. 
�?ल� 

 

Q67. In Kirchoff's law, the algebraic sum of currents meeting at any junction at any instant is 
equal to ______. 

 

A. Two B. Four 

C. Zero D. One 

Q67. ��1}Q, �O  �)0/ /O, ��AI .I A/0 ��AI .I ?ि㼂]?) +1 �/ल)O ??लI ??1?� ि㼂 �O  -I?��+,I0 0K� ________ �O  -1?-1 BK,? BP। 
 

A. /K B. �?0 

C. >mू/ D. ए� 

 

Q68. Which regions are lightly and heavily doped in a transistor? 
 

A. Collector and Base respectively B. Base and Emitter respectively 

C. Emitter and Base respectively D. Collector and Emitter respectively 

Q68. �L) AO �O} Bल㉍�O  �1 .?1I z+ AO �� र?ि㼂�?=�1 /O !K+ ��� ??,O Bै䠂? 
 

A. ि}>ः 9�्䵇?:��0 �0?0 B. ि}>ः �0?0 �0 �m9�?� 

C. ि}>ः �m9�?� �0 �0?0 D. ि}>ः 9�्䵇?:��0 �m9�?� 

 

Q69. The change in entropy for an isentropic process is ________. 
 

A. zero B. very high 

C. very low D. infinity 
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Q69. �� A/�)र?�+� ��्䵅0? �O  �ल� �mर?+I /O +र1?,च) ________ BP। 
 

A. >mू/ B. -:I- �K �? 

C. -:I- �} D. 
1m- 

 

Q70. The device which is used to stop the motion of the machine is ________. 
 

A. Clutches B. Couplings 

C. Brakes D. All of the above 

Q70. �+�1+ ?K /?I) �ी ��, �K 1K�)O �O  �ल� �+0K� ��0? ??,? BP ?B _________ BP। 
 

A. ]ल� B. �+/ल�_9 

C. }O� D. �+0K]- 9.I 
 

Q71. What is the unit for specific heat capacity? 
 

A. J/kg. K B. J/kg 

C. J/kg.m D. W/K 

Q71. �?�?्䵖 ,?+ �/,? �O  �ल� ��?� ]0? BP? 
 

A. J/kg. K B. J/kg 

C. J/kg.m D. W/K 

 

Q72. The gear train in which both input and output gears rotate coaxially is called _________. 
 

A. planetary gear train B. simple gear train 

C. reverted gear train D. compound gear train 

Q72. ��01 रO) �?A/O �)+J� �1 ���+J� ��01 A/?�I0 z+ AO  J/,O Bै䠂, �AO _______ �B,O BP। 
 

A. ्䵇:I/ ��/0 ्䵏O1 B. 9?0?0, ��/0 ्䵏O1 

C. �m/?=)- ?- ��/0 ्䵏O1 D. 9�/I]‍- ��/0 ्䵏O1 
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Q73. Which one of the following is an example of Glass-Ceramics? 
 

A. Porcelain B. Silicon carbide 

C. Alumina D. Pyrosil 

Q73. �)म⹍)�ल��, /O AO �L) _ल?A-�A1O�/� �? �� �.?B1+ BP? 
 

A. �I1I /}टटI B. /9लI�I1 �?-??�? 

C. एल㉍//ू}1? D. +?�0K/9ल 

 

Q74. Which one of the following elements possess Face-centred Cubic (FCC) structure? 
 

A. Cadmium B. Chromium 

C. Aluminium D. Manganese 

Q74. �)म⹍)�ल��, /O AO ��A ,m? /O ,O A-�O ��, ]0K�-� (FCC) Aि㼂1})? BP? 
 

A. �P ?/}/} B. िK/}/} 

C. 
ल㉍/I}I)1/} D. }ै䠂�1I� 

 

Q75. Which one of the following is an example of superalloy? 
 

A. Inconel B. Niobium 

C. Molybdenum D. Tungsten 

Q75. �)म⹍)�ल��, /O AO �L) �चᩍ} �/्䵦??,J �? �� �.?B1+ BP? 
 

A. ���K1Oल B. 1?��--/} 

C. }K/ल�?O1} D. ट��}ट1 

 

Q76. The heat treatment process, in which a material is taken to an elevated temperature for a 
specific period and then quenched is __________. 

 

A. Normalizing B. Hardening 

C. Tempering D. Annealing 
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Q76. ��/?-�+}?1 ��्䵅0?, �?A/O �� A?/्䵇I �K �� �?�?्䵖 
?�? �O  �ल� �� �??O@ �चᩍ} ,?+/?) +1 लO ??0? ??,? BP �1 �,1 ?�/, 
��0? ??,? BP , �AO __________ ��्䵅0? �B,O BP| 

 

A. 1K}?ल?�[ि�� B. :???)1�� 

C. टOम⹍+90�� D. 
1
/ल�� 

 

Q77. What is the Coefficient of Performance (COP) expression for a reversed Carnot cycle 
refrigerating machine? 

 

A. Heat rejected to the hot body per cycle/Work 

done per cycle 

B. Heat extracted from cold body per cycle/Work 

done per cycle 

C. Heat rejected to the cold body per cycle/Work 

done per cycle 

D. Heat extracted from hot body per cycle/Work 

done per cycle 

Q77. र1?Aच! �?)K� A?��ल 1O��?1O��ि㼂� /?I) �O  �ल� COP(�.?च) �O  �J+?ि㼂�) }0ि㼂?� ]0? BP? 
 

A. �)- �ि -o- )1�?/ 9O ��}? �? -9:��0, / �)- �ि 

}�/? �/? �?/? 
B. �)- �ि 
-o- )1�?/ 9O ��}? �? )1��}?, / �)- �ि 

}�/? �/? �?/? 

C. �)- �ि 
-o- )1�?/ 9O ��}? �? -9:��0, / �)- �ि 

}�/? �/? �?/? 
D. �)- �ि -o- )1�?/ 9O ��}? �? )1��}?, / �)- �ि 

}�/? �/? �?/? 
 

Q78. Which law states that "Both heat and work are mutually convertible"? 
 

A. Zeroth law of thermodynamics B. First law of thermodynamics 

C. Second law of thermodynamics D. Third law of thermodynamics 

Q78. ��A �A्䵍?ि㼂, /O �B? �0? BP �� "��/? �1 �?0च .K)K +?1=+र1� z+ AO +र1?,च)I0 Bै䠂"? 
 

A. ��}?�)-�I �O  >mू/=े䜂 )1/} B. ��}?�)-�I �O  +:लO )1/} 

C. ��}?�)-�I �O  /9ू0O )1/} D. ��}?�)-�I �O  -I90O )1/} 

 

Q79. All gases behave as ideal or perfect gas at all temperatures when __________. 
 

A. the pressure approaches to infinity pressure. B. the volume approaches zero. 

C. the pressure approaches zero pressure. D. the volume approaches infinity. 
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Q79. A.I �PAO A.I ,?+/?)K +1 �.?च 0? �m/ �PA �O  z+ /O }0?B?1 �1,I Bै䠂 ?- ________| 
 

A. /-?= 
1�--? �O  /-?= �O  �0I- +:I��-? :P। B. �/-1 >mू/ -� +:I�� �?-I :P। 

C. /-?= >mू/ /-?= �O  +?9 +:I��-? :P। D. �/-1 
1�--? �O  �0I- +:I��-? :P। 
 

Q80. The entropy of the universe always ________. 
 

A. approaches zero B. decreases 

C. increases D. approaches infinity 

Q80. }ह㥍?ि㼂! �? �mर?+I B/O?? ________| 
 

A. >mू/ -� -+-I :P B. �} :K �?-I :P 

C. -?-I :P D. 
1�- -� +:I��-I :P 
 

Q81. The property of fluid that resist the movement of fluid flow is __________. 
 

A. Buoyancy B. Viscosity 

C. Demulsibility D. Corrosion 

Q81. �? �O  �??B �ी ��, �K 1K�)O ??लO �? �? �J+?/च __________ BP। 
 

A. �moल?=�-? B. �/?1-? 

C. ==+?/91I/-? D. 9��?0, 

 

Q82. Reynolds number is __________. 
 

A. Ratio of inertia forces to viscosity B. Product of inertia forces to viscosity 

C. Ratio of inertia forces to velocity D. Product of inertia force to velocity 

Q82. 1O)Qल㉍!MA Aि㼂_0? _________ BP| 
 

A. �/?1-? +0 �=-? -ल �? 
1I+?- B. �=-? -ल �? �/?1-? 9O �I,1,ल 

C. =O� +0 �=-? -ल �? 
1I+?- D. �=-? -ल �? =O� 9O �I,1,ल 

 
 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 24, Apprenticeship Instructor, 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 24 of 27 

 

Q83. The study of system operated by air under pressure is _________. 
 

A. pneumatics B. hydraulics 

C. electrical system D. Control volume 

Q83. .-?? /O B?? �?1? Aि㼂}?�ल, �+?लI �? 
o00) _______ �Bल?,? BP। 
 

A. m/ू}O9ट]9 B. :?�्䵑K/ल]9 

C. �लO[]्䵏�ल /9}ट} D. �� ्䵏Kल =?ल㉍/ू} 

 

Q84. Mass of water vapour present in one cubic meter of air is ___________. 
 

A. Absolute Humidity B. Relative Humidity 

C. Saturation point D. Dew point 

Q84. ??0J �O  ��  ) /I�1 /O /L?K. ?ल ??�+ �? �}0/?) _________ BP। 
 

A. +,ू? �्䵖?-? B. 9?+O्䵌�� �्䵖?-? 

C. 9�-[ृo- --/I� D. �9?�� 

 

Q85. When the three views of an irregular object is not sufficient to describe the shape of the 
object, it is called as _________. 

 

A. Isometric View B. Oblique View 

C. Dimetric View D. Auxiliary View 

Q85. ?- ��AI 
�)0�/, ?=,J �O  ,I) o�0 ?=,J �O  ��?1 �? ?+च) �1)O �O  �ल� +0?च्䵎 )BK BK,O Bै䠂, ,K �AO ________ �B? ??,? BP। 
 

A. 9}/}-I/ द♃�/ B. )-/?�् द♃�/ 

C. 9//}-्䵔� द♃�/ D. 9:?/� द♃�/ 

 

Q86. The screw without head is ________. 
 

A. cap screw B. grub screw 

C. hexagonal headed cap screw D. eye bolt 
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Q86. �-)? �A1 ??ल? +O} ______| 
 

A. �P + }िू B. ्䵇- }िू 

C. :O]9?�K1ल :O?O? �P + }िू D. ऑ/ -Kल㉍ट 
 

Q87. 

 
 
The image depicts _________ . 

 

A. Cone hear B. Truss head 

C. Snap head D. Pan head 
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Q87. 

 
 

�}} /O _______ .??च0? �0? BP| 
 

A. �K1 9:/0 B. ्䵏9 :O? 

C. }1P+ :O? D. +P1 :O? 
 

Q88. Name the joint that can be used for large and wide underground pipelines , and connects 
hydraulic lines to transport water, oil, sewage at desired pressure but at normal 
temperature. 

 

A. Socket and Spigot Joint B. Wiped Joint 

C. Cast Iron Flanged joint D. Steel Joints 

Q88. �A ?K) �? )?/ -,?�� �?A�? �+0K� -)I �1 }L)I .K�/�, +?�+ल?�)K �O  �ल� ��0? ?? A�,? BP, �1 +?)I �O  .-??, ,Oल, 
AI?O? �K ??ि㼂��, .-?? +1 A?/?m0 ,?+/?) +1 +र1?B) �O  �ल� B?�्䵑K�ल� ल?�)K AO ?K),? BP। 

 

A. 9I�O ट �0 [}+�Kट जᱍ=?��ट B. =?�o? जᱍ=?��ट 

C. �?}ट �/01 oलै䠂जᱍ? जᱍ=?��ट D. }टIल जᱍ=?��ट 
 

Q89. The punch used to make small marks on layout lines is ________. 
 

A. hand lever punch B. hollow punch 

C. prick punch D. center punch 
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Q89. लO��� ल?�)K +1 �K�O �)??) -)?)O �O  �ल� �=,O/?ल ��0? ??)O ??ल? +ि㼂} ________ BP 
 

A. :?. लI=0 +�� B. ?K?ल? +�� 

C. =�� +�� D. �े䜂 ्䵖 +�� 

 

Q90. Which tool is used to cut metal pieces in hot and cold forge conditions? 
 

A. Chisels B. Hammers 

C. Anvil D. Tongs 

Q90. �/च �1  ि㼂!O ,K?च �=-�,0K /O ??,J �O  �J�)K �K �?�)O �O  �ल� ��A �+�1+ �? �+0K� ��0? ??,? BP? 
 

A. �O1I B. :.L=? 

C. )1:?� D. ��}ट? 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 

 

 

A.  B.  

C.  D.  

 

Q4. 

 

 

A.  B.  

C.  D.  

 

Q5. 

 

 

A.  B.  

C.  D.  
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Q6. __________ is the synonym of "AMBITIOUS". 
 

A. Pathetic B. Feeble 

C. Determined D. Nervous 

 

Q7. __________ is the antonym of "BARBARIC". 
 

A. Merciful B. Tame 

C. Calm D. Moderate 

 

Q8. Identify the meaning of the idiom in the sentence. 

"Instead of crying over spilt milk, you should prepare for the next examination." 
 

A. Complaining about a past loss B. Wishing good luck 

C. Worrying about future in advance D. Wasting time 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 

"Get into car after its too late." 
 

A. Get into the car before it's too late. B. Got into the car after it's too late. 

C. Got into the car before it is too late. D. Get into the car before it was too late. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 

I would ___________ (forgive) him, if he had apologized. 
 

A. forgive B. have forgave 

C. have forgive D. have forgiven 

 

Q11. Which of the following is NOT an objective of the proposed National Mission on 

Transformative Mobility and Battery Storage? 
 

A. Propose solutions that will help improve air 

quality in cities 

B. Propose solutions to reduce India's oil import 

dependence 

C. Propose solutions to improve the uptake of 

renewable energy and storage solutions 

D. Propose and recommend electric vehicles that 

can be imported to achieve energy independence 
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Q11. )िoि)ि)?- .O 9O �Lि 9?, टὍ??},K.O)?= .K)?)ि?I ए?* ?P?0I }?K0O� +0, �}-?)=- 0?�टὍI/ ).>ि �? �oO�/ ि:K :P? 
 

A. ्䵚},?=?, A/?/?0 �K ?B1ो䬂 /े䜂 B?? �I �I+?्䵈? /े䜂 AI/?1 
�10O /े䜂 /.. �1े䜂�O 

B. .?1, �I ,Oल �0?, )0.-1,? �K �/ �10O �O  ललए 

्䵚},?=?, A/?/?0 

C. 0?I�1+I0 ��?- �1 .�!?1+ A/?/?0ो䬂 /े䜂 ,O�I AO AI/?1 लO0 

�O  ललए ्䵚},?=?, A/?/?0 

D. �0 �लO_9ि� ??B0ो䬂 �K ्䵚},?=?, ,-? 
0IA�ल?, �10?, 
_�0AO ��?- }??-ल�-0 ्䵚?o, �10O �O  ललए �0?, ��0? �? 
A�,? BP 

 

Q12. The Salt Satyagraha lead by Mahatma Gandhi was part of __________. 
 

A. Champaran Agitation B. Non co-operation Movement 

C. Civil Disobedience Movement D. Quit India Movement 

Q12. .:?m.? �??0I �?0? ि.� 9m/?्䵇: �? िO-Lm= __________ �? ):}9? .?। 
 

A. ��+?1+ ��.Kल0 B. 
AB0K� �m.Kल0 

C. A=?00 
?_? ��.Kल0 D. .?1, �K)K ��.Kल0 

 

Q13. Which one of the following poisonous gas leak was responsible for the Bhopal Disaster? 
 

A. Sulphur Dioxide (SO2) B. Nitrogen Oxide 

C. Methyl Isocyanate (MIC) D. Polycyclic Aromatic Hydrocarbons (PAH) 

Q13. -K+?ि �+/? �O  )िए )िoि .O 9O �Lि 9? �:0Iि? �P9 र09?= )�o.O/?0 .?? 
 

A. Aल㉍,1 !?�ऑ9A?�! (SO2 ) B. 0?�िK�0 ऑ9A?�! 

C. ल/-?�ल ��AK A?�0O� (ए/��AI-MIC) D. +IलIA?�_9ल� ए1K/P��� B?�्䵑K�?--0 (+Iएए�-PAH) 

 

Q14. The Kite Festival is celebrated during __________. 
 

A. Diwali B. Holi 

C. Makar Sankranthi D. Janmashtami 
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Q14. +-?� .:Km9= __________ �O  /L0?ि .ि?/? �?-? :P। 
 

A. �.??लI B. BKलI 

C. /�1 A�कᕍ?�), D. �m/?��/I 
 

Q15. Mitathal, which is also known as "Eastern Domain" of the Indus or Harappan Civilization, 

is located in which among the following districts of Haryana? 
 

A. Kaithal B. Bhiwani 

C. Panipat D. Hisar 

Q15. ).-?.ि, )�9O )9?0J /? :=o+? 9m/-? �O  "+K=I *K.Oि" �O  ि?. 9O -I �?ि? �?-? :P, :र0/?,? �O  )िoि)ि)?- )�िो䬂 .O 9O )�9 )�िO .O 
)}.- :P? 

 

A. �P -ल B. ल.??0I 

C. +?0I+, D. �BA?1 
 

Q16. The Indian National Lok Dal of Haryana was founded by____________. 
 

A. Shri Choudhary Devi Lal B. Shri Om Prakash Chautala 

C. Shri Bansi Lal D. Shri Bhajan Lal 

Q16. :र0/?,? �O  -?0-I/ 0?�टὍI/ िK� /ि �ी }.?+ि? ____________ �?0? �ी �� .I। 
 

A. ्䵦I �L/1I .O?I ल?ल B. ्䵦I �/्䵚�?? �L�?ल? 

C. ्䵦I -�AI ल?ल D. ्䵦I .�0 ल?ल 

 

Q17. Which Chief Minister of Haryana passed the ordinance to ban liquor in 1996 in Haryana? 
 

A. Shri Bhagwat Dayal Sharma B. Chaudhary Devi Lal 

C. Shri Bansi Lal D. Rao Birender Singh 

Q17. :र0/?,? �O  )�9 .J_/.?}I िO 1996 .O :र0/?,? .O >0?? +0 �)-??0 ि�?िO �O  )िए 
o/?/O> +?र0- )�/? .?? 
 

A. ्䵦I .?�?, .0?ल ?/?- B. �L/1I .O?I ल?ल 

C. ्䵦I -�AI ल?ल D. 1?? --1े䜂्䵖 लA�B 
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Q18. The ______ district of Haryana is topped as the second-best district in India at the Swachh 

Survekshan Grameen Awards 2018. 
 

A. Gurugram B. Rewari 

C. Sonipat D. Bhiwani 

Q18. :र0/?,? �? ______ )�ि? }=चᩍ� -?0- 9=O�, +J0}�?0 2018 .O -?0- .O /K90O 9?9O 
चᩍ�O )�िO �O  रあ+ .O >I}? +0 :P। 
 

A. �Iy्䵇?/ B. 1O??)I 

C. AK0I+, D. ल.??0I 
 

Q19. As on 14-November-2019, who is the Haryana State Cabinet Minister for Health and 

Medical Education and Research? 
 

A. Shri Anil Vij B. Shri Vipul Goel 

C. Smt Kavita Jain D. Shri Ram Bilas Sharma 

Q19. 14-ि=??0 -2019 -�, }=?}M/ �0 )?)�m9? )>�? �0 
िJ9?0?ि �O  )िए :र0/?,? 0?जᱍ/ �P )?िO? .?}I �Lि :P? 
 

A. ्䵦I 
)0ल =?� B. ्䵦I =?+Iल �K0ल 

C. ्䵦I/,I �=?,? �P0 D. ्䵦I 1?/ =?ल?A ?/?- 
 

Q20. The newly inaugurated ESIC Medical College & Hospital is located at _________ in 

Haryana. 
 

A. Ambala B. Rohtak 

C. Sonipat D. Faridabad 

Q20. :र0/?,? .O ि=)ि).?- ESIC .O)*�ि �QिO� �0 
}+-?ि _________ .O )}.- :P। 
 

A. 
म⹍-?ल? B. 1KB,� 

C. AK0I+, D. ,1I.?-?. 
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Q21. Haryana State Industrial and Infrastructure Development Corporation (HSIIDC) has set up 

two Food Parks – one at Rai (Sonipat district) and the other at ________. 
 

A. Pinjore, Panchkula B. Saha, Ambala 

C. Narnaul, Mahendragarh D. Shahabad, Kurukshetra 

Q21. :र0/?,? 0?जᱍ/ �oK)�� ए=? 
=9?0?ि? )=�?9 )ि�. (HSIIDC) िO /K ,K * +?�?  }.?)+- )�ए :ै䠂। +:ि? 0?/ (9KिI+- )�िO) .O 
�0 /K90? ___________ .O। 

 

A. =+m�K1O, +���I ल? B. A?B?, 
म⹍-?ल? 

C. 0?10Lल, /Bे䜂्䵖�] D. AB?-?. ,�I y�O्䵔 
 

Q22. The 22nd AIIMS proposed at _____ will be set up under the Pradhan Mantri Swasthya 

Suraksha Yojana (PMSSY). 
 

A. Sonipat B. Jhajjar 

C. Rewari D. Sirsa 

Q22. ___________ .O �}-?)=- 22=O AIIMS �K �0?ि.?}I }=?}M/ 9J0�? /K�ि? (PMSSY) �O  -:- }.?)+- )�/? �?ए�?। 
 

A. AK0I+, B. �जᱍ�1 

C. 1O??)I D. लA1A? 
 

Q23. Who amongst the following is a children's poet of Haryana and translated English 

language story "The Arab and his Camel"? 
 

A. Ghulam Bhik Narang B. Murari Lal Sharma(Neeras) 

C. Sardar Anjum D. Hari Singh Dilbar 

Q23. )िoि)ि)?- .O 9O �Lि, :र0/?,? �O  ए� ??ि �)= :ै䠂 �0 
?्䵇O�I -?}? �ी �:?िI "/ 
0? ए?* ):= �P .ि" �? 
िJ=?/ )�/? :P? 
 

A. �Iल?/ ल.� 0?1�� B. /I1?1I ल?ल ?/?- (0I1A) 

C. A1.?1 
��I/ D. B91 लA�B �.ल-1 
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Q24. ___________ of Haryana was honoured with "Hasya Ratna" and is also considered as one 

of the most famous Hindi humour poet who used to recite poems by singing. 
 

A. Hari Singh Dilbar B. Baje Bhagat 

C. Sardar Anjum D. Alhar Bikaneri 

Q24. :र0/?,? �O  ___________ �K ":?}/ 0mि" 9O 9o.?)ि- )�/? �/? .? �0 �m:O 9?9O �)9p ):?/I :?}/ �)= -I .?ि? �?-? :P 
�K �?�0 �)=-?ए? +?-O .O। 

 

A. B91 लA�B �.ल-1 B. -?�O .�, 

C. A1.?1 
��I/ D. 
ल㉍B1 -I�?0O1I 
 

Q25. Which writer of Haryana is the founder of "Zubaan Books"? 
 

A. Ishita Katyal B. Neena Haridas 

C. Prem Chowdhary D. Urvashi Butalia 

Q25. :र0/?,? �? �Lि 9? िO?� "�J??ि ?J]9" �? 9?}.?+� :P? 
 

A. �ल?,? �?त⑍0?ल B. 0I0? B91.?A 

C. ्䵚O/ �L/1I D. �?-?I -I�?लल0? 
 

Q26. Saraswati Wildlife Sanctuary is in __________ city of Haryana. 
 

A. Mewat B. Kaithal 

C. Pehowa D. Thanesar 

Q26. 90}=-I =m/�I= 
-/?0o/, :र0/?,? �O  __________ >:0 .O :P। 
 

A. /O??, B. �P -ल 

C. +OBK?? D. -?0OA1 
 

Q27. Chilli Lake is in ________ district of Haryana. 
 

A. Fatehabad B. Panipat 

C. Karnal D. Faridabad 
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Q27. )?ल㉍िI �Iि, :र0/?,? �O  ________ )�िO .O :P। 
 

A. ,,OB?-?. B. +?0I+, 

C. �10?ल D. ,1I.?-?. 
 

Q28. Which amongst the following is NOT a city of Haryana? 
 

A. Gohana B. Maham 

C. Hansi D. Bharatpur 

Q28. �ि.O 9O �Lि, :र0/?,? �? ए� >:0 ि:K :P? 
 

A. �KB?0? B. /B/ 

C. B?�AI D. .1,+I1 
 

Q29. Manav Rachna University is located in ___________ district of Haryana. 
 

A. Ambala B. Gurugram 

C. Faridabad D. Hisar 

Q29. .?ि= 0?ि? )=�)=o?ि/, :र0/?,? �O  ___________ )�िO .O )}.- :P। 
 

A. 
म⹍-?ल? B. �Iy्䵇?/ 

C. ,1I.?-?. D. �BA?1 
 

Q30. Deenbandhu Chhotu Ram Thermal Power Plant is located at__________ in Haryana. 
 

A. Yamunanagar B. Hisar 

C. Panipat D. Faridabad 

Q30. /Iि??0K �K?K 0?. ..?ि +?=0 oि???, :र0/?,? �O  ______________ .O )}.- :P। 
 

A. 0/I0?0�1 B. �BA?1 

C. +?0I+, D. ,1I.?-?. 
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Q31. Who amongst the following can remove the Governor of Haryana from office? 
 

A. Haryana Legislative Assembly B. Parliament of India 

C. President of India D. Supreme Court of India 

Q31. )िoि .O 9O �Lि, :र0/?,? �O  0?जᱍ/+?ि �K �9�O  +/ 9O :?? 9�-? :P? 
 

A. B910?+? =?/?0 A.? B. .?1, �I A�A. 

C. .?1, �O  1?�ि+), D. .?1, �? A?ोचᩍ� m0?0?ल0 

 

Q32. The five members of the Panchayat are: 
 

A. Elected by local people B. Nominated by State Governor 

C. Recruited by District Collector D. Nominated by State Election Commission 

Q32. +???/- �O  +??? 9/}/: 
 

A. }-?0I0 लK�ो䬂 द♍??1? �I0O �?,O Bै䠂 B. 1?जᱍ0 �O  1?जᱍ0+?ल द♍??1? /0K0I, ��ए �?,O Bै䠂 

C. _�ल? �लO9�1 द♍??1? .,ी ��ए �?,O Bै䠂 D. 1?जᱍ0 �I0?? �0K� द♍??1? /0K0I, ��ए �?,O Bै䠂 
 

Q33. The executive power of Haryana is vested in the___________. 
 

A. Chief Minister of Haryana B. President of Haryana 

C. Governor of Haryana D. Council of Ministers of Haryana 

Q33. :र0/?,? �ी �?/?�?0I >)ि, ___________ �O  :?. .O :K-I :P। 
 

A. B910?+? �O  /I_0/�्䵔I B. B910?+? �O  1?�ि+), 

C. B910?+? �O  1?जᱍ0+?ल D. B910?+? �O  /�-्䵔+91@. 
 

Q34. Who among the following are eligible for the land plots in Haryana under Mahatma 

Gandhi Gramin Basti Yojna? 
 

A. Scheduled Caste B. Backward class 

C. BPL families D. All of the above 
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Q34. )िoि)ि)?- .O 9O �Lि, .:?m.? �??0I ्䵇?.I, ?}-I /K�ि? �O  -:- :र0/?,? .O -K??* �?्䵎 �0िO �O  /K_/ :ै䠂? 
 

A. 
0IA�ू�, �?), B. =+�)O ?�- 

C. -I+Iएल(BPL) +91??1 D. �+1 �O  A.I 
 

Q35. Which amongst the following is NOT a rabi crop of Haryana? 
 

A. Gram B. mustard 

C. Sugarcane D. Wheat 

Q35. �ि.O 9O �Lि, :र0/?,? �ी ए� 0?I ,9ि ि:K :P? 
 

A. �0? B. A1Aो䬂 

C. �m0? D. �OBूK 
 

Q36. Which one of the following is a combinational digital electronic circuit that performs 

arithmetic and bitwise operations on integer binary numbers? 
 

A. Arithmetic Logic Unit B. Compactable Read Only Memory 

C. Video Graphics Adapter D. Medium System Integrated Circuits 

Q36. )िoि)ि)?- .O 9O �Lि 9? ए� �Q)o?िO>िि )*)�?ि �िO]टὍQ)ि� 9)�? ? :P �K +K,??� ??�ि0I 9?_/?� ? +0 
र0..O)?� �0 )??=?�= 

9???िि �0-? :P? 
 

A. 
91-/O��� लI_�� 0)ू0� B. �Iम⹍+P9�O-ल 1I! �0लI /O/K1I 

C. ?I)!0K ्䵇?�,9A ए!?o�1 D. /I)!0/ लA}�/ ���I्䵇O�O! A��- � 
 

Q37. The flairy ankle-long skirt worn by women in Haryana is called as _____________. 
 

A. Daaman B. Ghagara 

C. Chunder D. Bagh 

Q37. :र0/?,? .O .):ि?� ? �?0? +:िO �?िO =?िO ,J ि,J िO, ??िO -� िo?O }�?? �K _____________ �:? �?-? :P। 
 

A. .?/0 B.  ?�1? 

C. �Im.1 D. -?ग᜼ 
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Q38. Which amongst the following Sports person was NOT born in Rohtak district of Haryana? 
 

A. Virendra Sehwag B. Sakshi Malik 

C. Jogendra Sharma D. Mamta Kharab 

Q38. :र0/?,? �O  0K:-� )�िO .O )िoि)ि)?- .O 9O )�9 )?ि?=I �? �m. नही䀂 :ु� .?? 
 

A. ?I1े䜂्䵖 AB??� B. A?�I /लल� 

C. �K�े䜂्䵖 ?/?- D. //,? �1- 

 

Q39. Which of the following is NOT an operating system? 
 

A. Microsoft Windows B. Linux 

C. macOS D. AutoCAD 

Q39. )िoि)ि)?- .O 9O �Lि ऑ+0O)??� )9}?. नही䀂 :P? 
 

A. /?�कᕍKAI़㱸� =?�!Kज᰼ B. लल09A 

C. /P� � एA D. ऑ�K�P ! 
 

Q40. Find the odd-one out in the following: 

 

Volleyball, Cricket, Tennis, Kho-Kho 
 

A. Cricket B. Volleyball 

C. Kho-Kho D. Tennis 

Q40. )िoि)ि)?- .O 9O ?O�K= �K +K?+�0 )ि�?िO: 
 

=QिI?Qि, )ि�O ?, ?O)ि9, ?K-?K 
 

A. �कᕍ�O � B. ?IलI-Iल 

C. �K-�K D. �O)0A 
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Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 

the original pair: 

Shoe: Cobbler::Car : ______ 
 

A. Factory B. Driver 

C. Mechanic D. Sales Manager 

Q41. 9:I )=�ल㉍+ ?JिO �K .Kि �K=I �P9? 9o?m0 )/?-? :K: 
�K-? : .K?I :: �?0 : ______ 

 

A. �?1�?0? B. ्䵑?�?1 

C. /P�O )0� D. AOल㉍A /P0O�1 
 

Q42. Find the missing term: 

K2, I4,____,E16,C32 
 

A. A8 B. J6 

C. G8 D. J4 

Q42. 
िJ+)}.- >m/ +K?+O: 
K2, I4,____, E16, C32 

 

A. A8 B. J6 

C. G8 D. J4 

 

Q43. Five persons are sitting on a bench. One of the two persons at the extreme end is a lawyer 

and the other is a teacher. A musician is sitting to the right of a banker. An actor is to the 

left of the teacher. What is the position of the musician from the left? 
 

A. First B. Fourth 

C. Second D. Third 

Q43. +??? िK� ए� ?O? +0 ?P)O :ै䠂। ए�/. 
?- .O ?P)O /K }/)ि/ो䬂 .O 9O ए� }/)ि ए� =�ीि :P �0 /K90? }/)ि ए� )>�� :P। ए� 

9?�I-�?0 ए� ?ै䠂�0 �O  /?/K �0 ?P)? :P। ए� 
)-िO-?, )>�� �ी ??/K �0 ?P)? :P। ??/K �0 9O 9?�I-�?0 )�9 }.?ि +0 ?P)? :P? 
 

A. +Bल? B. �L-? 

C. .Aू1? D. ,IA1? 
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Q44. 
 

 

A. 25 B. 35 

C. 15 D. 45 

Q44. 
 

 

A. 25 B. 35 

C. 15 D. 45 

 

Q45. (6.4)3 = ? 
 

A. 254.144 B. 342.134 

C. 260.124 D. 262.144 

Q45. (6.4)3 = ? 
 

A. 254.144 B. 342.134 

C. 260.124 D. 262.144 

 

Q46. 55% of 55 = ? 
 

A. 30.25 B. 45.75 

C. 35.55 D. 55.65 

Q46. 55 �? 55% = ? 
 

A. 30.25 B. 45.75 

C. 35.55 D. 55.65 

 

Q47. The probability that there will be a storm tomorrow is 0.45. What is the probability that 

there will not be a storm tomorrow? 
 

A. 1/0.45 B. 1/0.55 

C. 0.55 D. 1 

Q47. �ि -K+?ि �िO �ी 9?-?=ि? 0.45 :P। �ि -K+?ि ि �िO �ी )�-िI 9?-?=ि? :P? 
 

A. 1/0.45 B. 1/0.55 

C. 0.55 D. 1 
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Q48. Sound waves are called __________. 
 

A. Ultrasonic waves B. Ultraviolet waves 

C. Electromagnetic waves D. Mechanical waves 

Q48. o=)ि -0?�ो䬂 �K _________ �:? �?-? :P। 
 

A. 
ल㉍ि?AK)0� ,1��े䜂 B. +1?-ै䠂�0I ,1��े䜂 

C. =?द♍0I,�Iम⹍-�I0 ,1��े䜂 D. 0?�-्䵔� ,1��े䜂 
 

Q49. What is the instrument used to measure atmospheric pressure? 
 

A. Barometer B. Manometer 

C. Lactometer D. Sphygmomanometer 

Q49. =?/J.?*िI/ /??= �K .?+िO �O  )िए )�9 /?} �? �}-O.?ि )�/? �?-? :P? 
 

A. -P1K/I�1 B. /P0K/I�1 

C. लP9�K/I�1 D. },0�/ो䬂/?0I/I�O1 
 

Q50. Which of the following is not a condition necessary for photosynthesis to take place? 
 

A. Sunlight B. Oxygen 

C. Chlorophyll D. Water 

Q50. )िoि)ि)?- .O 9O �Lि, ��?> 9?�O}, �O  )िए ए� �=�/� >-? ि:K :P? 
 

A. A0ू- �? ्䵚�?? B. ऑ9AI�0 

C. 9लK1K�,ल D. +?0I 
 

Q51. The section obtained when the cutting plane cuts both the parts of the double cone is 

_________. 
 

A. Circle B. Parabola 

C. Ellipse D. Hyperbola 
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Q51. �? �)??� )=.?ि /K >?�J� ? �O  /Kिो䬂 ):}9ो䬂 �K �??-? :P , -K �?्䵎 :KिO =?िO ??* �K ________ �:-O :ै䠂। 
 

A. ?्ृ䵈 B. +1?ल0 

C. .I -?्ृ䵈 D. 
),+1?ल0 

 

Q52. The object will lie ________ in fourth angle projection. 
 

A. above horizontal plane and in front of vertical 

plane 

B. below horizontal plane and in front of vertical 

plane 

C. behind the vertical plane and above the 

horizontal plane 

D. in front of vertical plane and below the 

horizontal plane 

Q52. =}-J ?L.O �K, ��O+, .O __________ )}.- :K�I। 
 

A. �P),� A,B �O  �+1 �1 ��??-/1 A,B �O  A?/0O B. �P),� A,B �O  0I�O �1 ��??-/1 A,B �O  A?/0O 

C. ��??-/1 A,B �O  +I�O  �1 �P),� A,B �O  �+1 D. ��??-/1 A,B �O  A?/0O �1 �P),� A,B �O  0I�O 
 

Q53. The process used to join two or more metals with a filler material is called ____________ 

. 
 

A. Soldering B. Shaping 

C. Milling D. Gas Welding 

Q53. -0?= 9?.्䵇I �O  9?. /K /? 
)0� 0?-J� ? .O >?).ि :KिO �O  )िए �+/K� �ी �?िO =?िI �)ि/? �K _______ �:? �?-? :P। 
 

A. ���?� B. ?O=+�� 

C. =+A?� D. �PA ?O_ल㉍!�� 

 

Q54. Which tool is used to enlarge and finish the hole to the required dimensions? 
 

A. Reamers B. Taps and Dies 

C. Flat Drills D. Scrapers 

Q54. �=�/� �/?.ो䬂 �O  �O/ �K ???िO �0 +K,? �0िO �O  )िए )�9 �+�0, �? �+/K� )�/? �?-? :P? 
 

A. 1I/A- B. !?� �1 A?��O 

C. oलP� )्䵑ल D. }कᕍP +A- 
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Q55. Which one of the following is an example of an input device? 
 

A. Sound card B. USB Flash drive 

C. Headphones D. Barcode reader 

Q55. )िoि)ि)?- .O 9O �Lि ए� �ि+J? )*=?�9 �? �/?:0, :P? 
 

A. A?�� ! �?!- B. 0ूएA-I(USB) oलP? ्䵑?�? 

C. BO!,K0 D. -?1�K! 1I!1 
 

Q56. When the computer is turned off, the memory chip always retains the data in _________. 
 

A. Nonvolatile Memory B. Volatile Memory 

C. Bubble Memory D. Flash memory 

Q56. �? �? o/K?0 �K ??/ )�/? �?-? :P, -? .O.K0I )?+ *O?? �K :.O>? __________ .O 0?-I :P। 
 

A. 0I0-?KलO�?�ल /O/K1I B. ?KलO�?�ल /O/K1I 

C. --ल /O/K1I D. oलP? /O/K1I 
 

Q57. Which virus fills up the empty spaces in the code without causing any damage to the 

system? 
 

A. Non-resident virus B. Resident virus 

C. Cavity virus D. Pithole virus 

Q57. �Lि 9? =?/09 )9}?. �K �K� -I िJ�9?ि +:ुI??/O )?ि? �K* .O ??िI ��:ो䬂 �K -0-? :P? 
 

A. 0I0-1OलA!े䜂� ??01A B. 1OलA!े䜂� ??01A 

C. �P =?�I ??01A D. =+�-BKल ??01A 

 

Q58. The load that extends the length of the bar is __________. 
 

A. Tensile load B. Compressive load 

C. Negative load D. Nominal load 
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Q58. ??0 �ी ि???� �? )=}-?0 �0िO =?ि? -?0 �K _______ �:-O :ै䠂। 
 

A. ,00 .?1 B. Aम⹍+I)), .?1 

C. 0�?1?त⑍/� .?1 D. A?��O ),� .?1 
 

Q59. The beam with one of its ends fixed and the other end free is _______. 
 

A. Cantilever Beam B. Simply Supported Beam 

C. Overhanging Beam D. Fixed Beam 

Q59. =: ?I. )�9�? ए� �K0 }.?� -.? /K90? �K0 .Jि :K-? :P �9O _______ �:-O :ै䠂। 
 

A. �ै䠂 �IलI?1 -I/ B. A?/?m0 A/�--, -I/ 

C. ्䵚ल�--, -I/ D. }-?� -I/ 

 

Q60. Flexural rigidity is defined as ________. 
 

A. (Modulus of Elasticity) x (Moment of Inertia) B. (Modulus of Elasticity) + (Moment of Inertia) 

C. (Modulus of Elasticity) - (Moment of Inertia) D. (Modulus of Elasticity) / (Moment of Inertia) 

Q60. �ि.िI द♃?-? �K _______ �O  रあ+ .O +र0-?)}- )�/? �?-? :P। 
 

A. (्䵚त⑍0?}-,? �I+?��) x (�)त⑍? � +ू-) B. (्䵚त⑍0?}-,? �I+?��) + ( �)त⑍? � +ू-) 

C. (्䵚त⑍0?}-,? �I+?��) - (�)त⑍? � +ू-) D. (्䵚त⑍0?}-,? �I+?��) / ( �)त⑍? � +ू-) 
 

Q61. When the load spreads uniformly over the beam and the loading rate is uniform along the 

length of the beam, it is called as ________. 
 

A. Uniformly Concentrated Load B. Uniformly Distributed Load 

C. Uniformly varying Load D. Loaded by one or more Couples 

Q61. �? -?0 �? )=}-?0 ?I. +0 ए� 9.?ि :K-? :P �0 िK)*?� �ी /0 ?I. �ी ि???� �O  9.रあ+ :K-I :P, -K �9O _______ �:? �?-? :P। 
 

A. A/?0 z+ AO �े䜂 �्䵖, .?1 B. A/?0 z+ AO =?,91, .?1 

C. A/?0 z+ AO +91?,-0I0 .?1 D. ए� 0? 
�/� �K)O द♍??1? .?91, 
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Q62. If the body is in equilibrium, then the algebraic sum of all the external forces and their 

moments about any point in their plane is ________. 
 

A. Zero B. One 

C. Infinity D. Cannot be determined 

Q62. /)/ �K� )ि�?/ 9?o/?=}.? .O :P, -? 9-I ??:0I ?िो䬂 �O  ?I��),-I/ /K� �0 �ि�ी 9-: �O  )�9I -I )??/J �? � K,? 
________ :K�?। 

 

A. ?mू0 B. ए� 

C. 
0m, D. )0/?-91, 0BI� ��0? �? A�,? BP 
 

Q63. When a body moves in a straight line, then the motion of a body is termed as _________. 
 

A. Rectilinear Motion B. Curvilinear Motion 

C. Circular Motion D. Rotary motion 

Q63. �? �K� )ि�?/ ए� 9I0I 0O?? .O ?ि-? :P, -K )+?* �ी �)- �K ________ �:? �?-? :P। 
 

A. ��I1O�I0 �), B. ?कᕍ1O�I �), 

C. ?्ृ䵈I0 �), D.  +ू-0 �), 

 

Q64. Choose the expression for "Mechanical Advantage" of machines. 
 

A. Weight lifted/Effort applied B. Effort applied/Weight lifted 

C. Distance moved by the effort/Weight lifted D. Weight lifted/Distance moved by the effort 

Q64. .>Iिो䬂 �O  "/??)}� ि?- " �O  9K} �? ?Jि?= �0O। 
 

A. � ?0? �0? .?1/ल�?0? �0? -ल B. ल�?0? �0? -ल/� ?0? �0? .?1 

C. ल�?ए �ए -ल द♍??1? ,0 �I �0I .1ूI/� ?0? �0? .?1 D. � ?0? �0? .?1/ल�?ए �ए -ल द♍??1? ,0 �I �0I .1ूI 
 

Q65. By duality transformation, ________ can be interchanged. 
 

A. current and voltage B. current and resistance 

C. voltage and resistance D. current and inductance 
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Q65. �P--? रあ+??-0, �O  �?0?, ________ �K +0}+0 ?/ि? �? 9�-? :P। 
 

A. =?द♍0I, ्䵚??B �1 ?Kल㉍�O� B. =?द♍0I, ्䵚??B �1 ्䵚),1K/ 

C. ?Kल㉍�O� �1 ्䵚),1K/ D. ?,-/?0 �1 ्䵚O1+ 

 

Q66. Choose the important features of Norton's theorem. 
 

A. Use current source and the resistor set in 

parallel with the source. 

B. Use voltage source and the resistor set in 

parallel with the source. 

C. Use current source and the resistor set in 

series with the source. 

D. Use voltage source and the resistor set in 

series with the source. 

Q66. िQ??ि �ी �.O/ �ी .:m=+K,? )=>O}-?� ? �K ?JिO। 
 

A. =?द♍0I, ्/?1? �O  ्䵨K, �1 ्䵚),1K/� A/ूB �K ्䵨K, �O  A?- 

A/?0?�,1 /े䜂 �+0K� �10?। 
B. ?Kल㉍�O� ्䵨K, �1 ्䵚),1K/� A/ूB �K ्䵨K, �O  A?- A/?0?�,1 
/े䜂 �+0K� �10?। 

C. =?द♍0I, ्/?1? �O  ्䵨K, �1 ्䵚),1K/� A/ूB �K ्䵨K, �I ्䵦ृ��ल? 
�O  A?- �+0K� �10?। 

D. ?Kल㉍�O� ्䵨K, �1 ्䵚),1K/� A/ूB �K ्䵨K, ्䵨K, �I ्䵦ृ��ल? �O  
A?- �+0K� �10?। 

 

Q67. ________ current exists without external voltage applied, while __________ current can 

exist without external voltage applied. 
 

A. Internal, diffusion B. Drift, internal 

C. Drift, diffusion D. Diffusion, drift 

Q67. ??्䵨 =Kल㉍?O� �/Jि )�ए )?ि? _________ 0?0? .L�K/ :K-I :P, �?)� ________ 0?0? ??्䵨 =Kल㉍?O� �O  )?ि? �/Jि :K 9�-I 
:P। 

 

A. ��,91�, =?A1+ B. ्䵚??�B,, ��,91� 

C. ्䵚??�B,, =?A1+ D. =?A1+, ्䵚??�B, 

 

Q68. The transistor is ________ controlled device and has _________ properties. 
 

A. inductance,rectifying B. current, both amplifying and rectifying 

C. voltage, both amplifying and rectifying D. resistance, amplifying 
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Q68. टὍ??)�}?0 ए� ______ )ि/?)}- �+�0, :P, �0 �9.O /Kिो䬂 _______ �J,0.? :K-O :ै䠂। 
 

A. ्䵚O1�त⑍?, +91?K/� B. =?द♍0I, ्/?1?, .K0ो䬂 ्䵚?/-� �1 +91?K/� 

C. ?Kल㉍�O�, .K0ो䬂 ्䵚?/-� �1 +91?K/� D. ्䵚),1K/, ्䵚?/-� 

 

Q69. In lathe, _________ works as a housing for driving pulleys and gears. 
 

A. Conveyor B. Carriage 

C. Headstock D. Tailstock 

Q69. िO. .O, _________ +JिI �0 )�/0ो䬂 �O  ??िि �O  )िए ए� �=?9 �O  रあ+ .O �?. �0-? :P। 
 

A. �0?O01 B. �P 91� 

C. BO!}�I� D. �Oल}�I� 

 

Q70. Which one of the following does NOT belong to the type of chips used in metal cutting? 
 

A. Continuous chip B. Rooted chip 

C. Discontinuous chip D. Built up Edge chip 

Q70. )िoि)ि)?- .O 9O �Lि 9? 0?-J �??िO .O �+/K� :KिO =?िI )?o9 �O  ��?0 9O 9???)0- ि:K :P? 
 

A. �_m�m0ू
A ��+ B. z�O! ��+ 

C. )!}�_m�m0ू
A ��+ D. --ल㉍� 
+ ए� ��+ 

 

Q71. The operation of forming a conical shape at the end of the drilled hole is _________. 
 

A. Trepanning B. Tapping 

C. Reaming D. Countersinking 

Q71. )िि )�ए �ए �O/ �O  
?- .O >?]=?�?0 ��L )- ?ि?िO �? �?/? _________ �:ि?-? :P। 
 

A. िI+P)0�� B. �P=+�� 

C. 1Iल/�� D. �?�� �1 लA���� � 
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Q72. In boilers, __________ is a device which utilises the waste heat of flue gases to heat the 

feed water. 
 

A. Air preheater B. Economiser 

C. Feed pump D. Injector 

Q72. ?Q/ि0ो䬂 .O, _________ ए� �+�0, :P �K -0, �ि �K �.? �0िO �O  )िए oिK �P9ो䬂 �ी 
+)>� ��.? �? �+/K� �0-? :P। 
 

A. ए01 ्䵚IBI�1 B. ��I0/?�ज᰼1 

C. ,I! +�+ D. ���O9�1 
 

Q73. Which one of the following is an example for "Non-oxide Carbide ceramics"? 
 

A. Zirconia B. Alumina 

C. Magnesia D. Silicon nitride 

Q73. )िoि)ि)?- .O 9O �Lि 9? "�P0-ऑ]9?�* �????�* )90O).�" �O  ��?0 �? ए� �/?:0, :P? 
 

A. _ज᰼1�K)00? B. एल㉍0लू/0? 

C. /P_0Iल?0? D. लAलल�I0 0?�ि?�! 
 

Q74. The coordination number in FCC (Face-Centered Cubic) structure is ________ and it has 

______ atoms per unit cell. 
 

A. 4, 2 B. 12, 6 

C. 12, 4 D. 4, 4 

Q74. FCC (,O 9 �O )?-  ि) 9?0?ि? .O 9.m=/ 9?_/? _______ :P, �0 �)- /K)ि? 9Oि .O +0.?,J� ? �ी 9?_/? ________ :P? 
 

A. 4, 2 B. 12, 6 

C. 12, 4 D. 4, 4 

 

Q75. Which one of the following elements should be added to Nickel - Based super alloy to 

strengthen it? 
 

A. Titanium B. Copper 

C. Iron D. Tungsten 
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Q75. )िoि)ि)?- .O 9O �Lि 9? -m= )ि�ि �0?र0- �m. ).्䵦 0?-J �K .�?K- �0िO �O  )िए �9.O ).ि?/? �?ि? ??):ए? 
 

A. �?��O)00/ B. ,?�-? 

C. लKB? D. ���}�0 

 

Q76. What is meant by "Quenching of metal" in heat treatment process? 
 

A. The metal is heated. B. The metal is fused. 

C. The metal is made into sheets. D. The metal is cooled. 

Q76. ��.? �>K0ि �)ि/? .O "0?-J �O  >.ि" 9O ]/? .-ि? :P? 
 

A. /?,I �K �/- ��0? �?,? BP। B. /?,I A��लल, ��0? �?,? BP। 

C. /?,I �K �?.1ो䬂 /े䜂 -0?0? �?,? BP। D. /?,I �K  �!? ��0? �?,? BP। 
 

Q77. 1 tonne of refrigeration is approximately equal to _______. 
 

A. 3.5 J/S B. 3.5 kJ/s 

C. 4.5 kJ/s D. 4.5 J/S 

Q77. ए� ?ि �>I-ि ि�-� _______ �O  ?0??0 :P। 
 

A. 3.5 J/S B. 3.5 kJ/s 

C. 4.5 kJ/s D. 4.5 J/S 

 

Q78. According to the first law of thermodynamics, the cyclic integral of heat transfer is 

_______ to cyclic integral of work transfer. 
 

A. lesser B. greater 

C. equal D. zero 

Q78. ��.?�)-�ी �O  +:िO )ि/. �O  
िJ9?0,��.? }.?ि??-0, �? ?िी/ 9.?�िि �?/? }.?ि??-0, �O  ?िी/ 9.?�िि 9O ________ 

:K-? :P। 
 

A. �/ B. 
�/� 

C. -1?-1 D. ?mू0 
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Q79. The Internal energy and enthalpy of an ideal gas is dependent on ________. 
 

A. Pressure only B. Pressure and Temperature 

C. Temperature only D. Volume and Pressure 

Q79. ए� �/>? �P9 �ी �?-र0� ��?? �0 -?+I/ 0?र0-? _______ +0 )ि-?0 :K-I :P। 
 

A. �O ?ल .-?? B. .-?? �1 ,?+/?0 

C. �O ?ल ,?+/?0 D. �0,0 �1 .-?? 

 

Q80. What will be the entropy of an ice cube, if it changes its state to liquid state? 
 

A. Increases B. Decreases 

C. Constant D. Infinite 

Q80. /)/ ?,?  �? ?J�=? 
+िI 
=}.? 9O -0ि 
=}.? .O ?/ि-? :P, -K ?,?  �O  ?J�=O �? �mि. .?+ ]/? :K�?? 
 

A. -]O�? B.  �O�? 

C. _}-1 BK�? D. 
0�, BK�? 
 

Q81. If the fluid flows very easily, then viscosity of the fluid is ________. 
 

A. Zero B. Low 

C. High D. Negative 

Q81. /)/ ?}/ �9?िI 9O ?:-? :P, -K ?}/ �ी �/?ि-? _______ :K-I :P। 
 

A. ?mू0 B. )0म⹍0 

C. �चᩍ� D. 0�?1?त⑍/� 

 

Q82. What is the Reynolds number for laminar flow? 
 

A. Between 4000 to 8000 B. Between 2000 to 4000 

C. Less than 2000 D. Equal to 4000 
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Q82. +,?/िI/ �=?: �O  )िए 0OिQल㉍*M9 9?_/? ]/? :P? 
 

A. 4000 AO 8000 �O  -I� B. 2000 AO 4000 �O  -I� 

C. 2000 AO �/ D. 4000 �O  -1?-1 
 

Q83. Which one of the following is used as a medium in Pneumatic Systems? 
 

A. Compressed Air B. Hydraulic oil 

C. Electricity D. Water 

Q83. =?/=I/ �,?)ि/ो䬂 .O .?o/. �O  रあ+ .O )िoि)ि)?- .O 9O )�9�? �+/K� )�/? �?-? :P? 
 

A. A�+I)), B?? B. B�्䵑Iलल� ,Oल 

C. --�लI D. +?0I 
 

Q84. The ratio of absolute humidity to saturation quantity is called as _______ 
 

A. Specific Humidity B. Relative Humidity 

C. Saturation point D. Dew point 

Q84. 
िJ=O0ि .?}? .O )ि0+O� �??-? �O  
िJ+?- �K _______ �:? �?-? :P। 
 

A. =?ल?�� �्䵖-,? B. A?+O्䵌�� �्䵖-,? 

C. 
0I?O/0 --.I� D. �A?�� 

 

Q85. In Skew surface, the surface is _______ to all the three principal planes. 
 

A. Parallel B. Perpendicular 

C. Straight D. Inclined 

Q85. )=}.-िI/ 9-: .O, 9-: -Iिो䬂 �.J? -िो䬂 �O  _______ :K-I :P। 
 

A. A/?0?�,1 B. ल�-?, 

C. AI/I D. ्䵚?्ृ䵈 
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Q86. Which metal is used to coat on the iron in galvanization process? 
 

A. Gold B. Zinc 

C. Silver D. Nickel 

Q86. )?�िI �ी .// 9O 0?-J ?+?िO �ी �)ि/? .O, िK:O .O +0- ?+?िO �O  )िए )�9 0?-J �? �+/K� )�/? �?-? :P? 
 

A. AK0? B. �},? 

C. �?�.I D. )0�ल 

 

Q87. 

 
 

Which joint is depicted in the image above? 
 

A. Butt Joint B. Edge Joint 

C. Lap Joint D. Corner Joint 

Q87. 

 
 

�+0Kि �)= .O �Lि 9? �K= />??/? �/? :P? 
 

A. -� �I��� B. ए� �I��� 

C. लP+ �I��� D. �I0-1 जᱍ??��� 
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Q88. Lead pipes are flexible and easily made into different shapes. They are used for 

framework or drainage systems and connected by using _______. 
 

A. Wiped Joint B. Expansion Joint 

C. Flanged pipe joint D. Flexible Joint 

Q88. िI* +?�+ ि?IिO :K-O :ै䠂 �0 �9?िI 9O )=)-mि ��?0ो䬂 .O ?ि?/O �?-O :ै䠂। �ि�? �+/K� +???? 
.=? �ि-)ि�?9 �,?िI �O  )िए 
)�/? �?-? :ै䠂 �0 �m:O �K=िO �O  )िए ______ �? �+/K� :K-? :ै䠂। 

 

A. ??�o! �I��� B. ए9A+ै䠂?0 �I��� 

C. oलै䠂_! �I��� D. oलO_9A-ल �I��� 
 

Q89. Which tool is used to draw large arcs and circles that are beyond the limit of divider? 
 

A. Trammel points B. Scribers 

C. Drawing Pens D. Micrometer 

Q89. )*=?�*0 �ी 9I.? 9O +0O ?=O =Lm-??+ �0 =Lmो䬂 �K ?K?िO �O  )िए )�9 �+�0, �? �+/K� )�/? �?-? :P? 
 

A. िO/ल +I��� B. _}कᕍ-1 

C. ्䵑?��� +O0 D. /?�कᕍK/I�1 
 

Q90. Which one of the following is an example of power hammer? 
 

A. Pneumatic Hammer B. Cross Pein hammer 

C. Straight Pein sledge hammer D. Double face sledge hammer 

Q90. )िoि)ि)?- .O 9O �Lि 9? ए� +?=0 :P.0 �? �/?:0, :P? 
 

A. m0ू/O��� BP/1 B. कᕍIA +O�0 BP/1 

C. }िO� +O�0 }लO� BP/1 D. !-ल ,O A }लO� BP/1 
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